o

N\ TNOROT

\\J'STEEFNNG § SUSPENSION PARTS

JULY 2018

NEW ITEMS




/
W ENOROT

TEKNOROT REF: AC-101
STEERING TIE ROD END

Weight: 0,786  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR
MDX 2007-2013
TEKNOROT KEF. AC-102

STEERING TIE ROD END

Weight: 0,786  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR

MDX 2007-2013

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

aonpraBLE For ACURA

DIRECTIONS

Front Right

OEM NO

535405TXADZ

aonpraBLE FoR ACURA

DIRECTIONS

Front Left

OEM NO

535605TXADZ



\7E(NDRDT
\M) TEERING & SUSPENSION PA

TEKNOROT REF. AC-111 aoaprasieror ACURA
STEERING TIE ROD END

)

Weight: 0,775 Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L 4t GEZQUAB T 2009-2014 Front Right 53540TKAAD2
TEKNOROT REF: AC-112 soaerasleFor ACURA
STEERING TIE ROD END

Weight: 0,775 Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L Ath GEZQUAB T 2009-2014 Front Left 53560TK4A02

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT

STEERING & SUSPENSION PARTS

TEKNOROT REF: AC-203 aoaprasieror ACURA
STEERING TIE ROD

Weight: 0,599  Bolt Metric: M14X1,25  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
L Ath GEZQUAB " 2009-2014 Front 53010STHAOL
TEKNOROT REF. B-761 aoapraBLEFOR BMW
STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1SERIES F 2011- Front Right 32106797618

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
W ENOROT - .

TEKNOROT REF: B-761 soaetaBLeFor BMW
STEERING TIE ROD END xdrive :

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2 SERIES F 2011- Front Right 32106797618
TEKNOROT REF. B-761 apaptasLEFOR BMW
STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3 SERIES F 2011- Front Right 32106797618

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



pr
\R TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF. B-761 aoapraBLEFOR BMW
STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4 SERIES F 2011- Front Right 32106797618
TEKNOROT REF: B-762 aoapraBLEFOR BMW

STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1SERIES F 2011- Front Left 32106797617

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
W ENOROT - .

TEKNOROT REF: B-762 soaetaBLeFor BMW
STEERING TIE ROD END xdrive :

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2 SERIES F 2011- Front Left 32106797617
TEKNOROT REF: B-762 apaptasLEFOR BMW
STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3 SERIES F 2011- Front Left 32106797617

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF: B-762 aoapraBLEFOR BMW
STEERING TIE ROD END xdrive

Weight: 0,7  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

4 SERIES F 2011- Front Left 32106797617
TEKNOROT REF: BU-188 aonpraBLeFor BUICK
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3,71
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RENDEZVOUS 2002-2007  TOMERON 10318098
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

* & CH-604

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF. BU-188 aoaprasieror PONTIAC

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3,71
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) Front Right
AZTEK 2001-2005 | ower 10318098
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 ‘P,,ﬂ CH-604
TEKNOROT REF: BU-188S aonpraBLeFor BUICK

SUSPENSION CONTROL ARM

Weight: 2395
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RENDEZVOUS 2002-2007  TOMERON 10318098

Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF: BU-188S aonprasLeFor PONTIAC
SUSPENSION CONTROL ARM

Weight: 2395
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
AZTEK 2001-2005 | ower 10318098
TEKNOROT REF: BU-189 aonpraBLeFor BUICK
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3,71
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RENDEZVOUS 2002-2007  Front Left Lower 10318097
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

4 & CH-604

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF. BU-189 aoaprasieror PONTIAC

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3,71
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AZTEK 2001-2005  Front Left Lower 10318097
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

4 & CH-604

TEKNOROT REF: BU-189S aonpraBLeFor BUICK
SUSPENSION CONTROL ARM

Weight: 2395
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RENDEZVOUS 2002-2007  Front Left Lower 10318097

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/7
W ENOROT -

TEKNOROT REF: BU-189S aosrrasLeror PONTIAC
SUSPENSION CONTROL ARM

Weight: 2395
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AZTEK 2001-2005  Front Left Lower 10318097
TEKNOROT REF. CD-117 aosrrasLeFor CADILLAC
SUSPENSION CONTROL ARM AWD
AND BALL JOIN TASSEMBL Y

y

Weight: 3,33

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
15047200
ESCALADE GMTE00 2001-2006 Front Upper 15864153

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

\ TSNOROT R

TEKNOROT REF. CD-117 aoaprasleror GHEVROLET

SUSPENSION CONTROL ARM AWD
AND BALL JOINT ASSEMBLY

*

Weight: 3,33
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE 2nd Gen 2000-2006 Front Upper égggﬁgg
TEKNOROT REF: CD-117 aoaprasleror GHEVROLET
SUSPENSION CONTROL ARM p—  E
AND BALL JOINT ASSEMBLY a ;
Weight: 3,33
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 ond Gen 2003-2014  Front Upper 15047200

15864153

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF. CD-117 aoaprasleror GHEVROLET

SUSPENSION CONTROL ARM AWD
AND BALL JOINT ASSEMBLY

Weight: 3,33
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EXPRESS 2500 2nd Gen 2003-2014  Front Upper ﬁggﬁgg
TEKNOROT REF. CD-117 aonprasleror GHEVROLET
SUSPENSION CONTROL ARM AWD
AND BALL JOINT ASSEMBLY
Weight: 3,33
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EXPRESS 3500 2nd Gen 2003-2014  Front Upper 15047200

15864153

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT N

STEERING & SUSPENSION PARTS

TEKNOROT REF: CH-435 aonprasleFor GHEVROLET
SUSPENSION BALL JOINT

Weight: 0,618
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AVALANCHE 1stGenGMTE00  2001-2006 Front Lower %gi%g;
TEKNOROT REF: CH-435 aoaprasleror GHEVROLET
SUSPENSION BALL JOINT

Weight: 0,618
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
18207137
SILVERADO 1500 1st Gen, GMTE800  1999-2006 Front Lower 12475477

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/3
W ENOROT -

TEKNOROT REF: CH-465 aonprasleFor GHEVROLET
SUSPENSION BALL JOINT

Weight: 0,942
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 2500 3rd Gen 2011- Front Lower 19256656
TEKNOROT REF: CH-465 aonprasleror GHEVROLET
SUSPENSION BALL JOINT

Weight: 0,942
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 3500 3rd Gen 2011- Front Lower 19256656

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT

STEERING & SUSPENSION PARTS

TEKNOROT REF: CH-465 AoapTABLEFOR GMIC
SUSPENSION BALL JOINT

Weight: 0,942
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 2500 3rd Gen 2011- Front Lower 19256656
TEKNOROT REF. CH-465 aoaptaBLEFOR GMC
SUSPENSION BALL JOINT il

Weight: 0,942
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 3500 3rd Gen 2011- Front Lower 19256656

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF. CH-878 aoaprasLeror CHEVROLET

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3158
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CAVALIER 3rd Gen 1995-2005 ~ TOMERON 15217437
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

4 CH-875

TEKNOROT REF. CH-878 aoaprasieror PONTIAC

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

WEIghl' 8158 PRy SOTel e Tl (e e LR [
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
SUNFIRE 1IstGen 1995-2005 | ower 15217437
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

4 CH-875

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



& m=avoroT -

STEERING & SUSPENSION PARTS

TEKNOROT REF: CH-878S aonprasleFor GHEVROLET
SUSPENSION CONTROL ARM

Weight: 2634
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CAVALIER 3rd Gen 1995-2005 Fr CL’Z IWAZ%’ nt 15217437
TEKNOROT REF: CH-878S aonprasLeror PONTIAC
SUSPENSION CONTROL ARM

Weight: 2634
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
SUNFIRE 1IstGen 1995-2005 | ower 15217437

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF. CH-879 aoaprasLeror CHEVROLET

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3158
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CAVALIER 3rd Gen 1995-2005  Front Left Lower 15217436
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

4 CH-875

TEKNOROT REF. CH-879 aoaprasieror PONTIAC

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3158 S ek S e S itta
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SUNFIRE 1st Gen 1995-2005  Front Left Lower 15217436
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

4 CH-875

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



& m=avoroT -

STEERING & SUSPENSION PARTS

TEKNOROT REF: CH-879S aonprasleFor GHEVROLET
SUSPENSION CONTROL ARM

Weight: 2634
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CAVALIER 3rd Gen 1995-2005  Front Left Lower 15217436
TEKNOROT REF: CH-879S aonprasLeror PONTIAC
SUSPENSION CONTROL ARM

Weight: 2634
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SUNFIRE 1st Gen 1995-2005  Front Left Lower 15217436

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

TEKNOROT REF. CI-653
STEERING TIE ROD

= = ——
Weight: 0,0695
MODEL NO BODY CODE YEAR
bS5 2011-2015
TEKNOROT REF: CI-653
STEERING TIE ROD
= = ——
Weight: 0,0695
MODEL NO BODY CODE YEAR
RCZ 2010-

DIRECTIONS

Front

aoarraBleror CITROEN

OEM NO

3812 F7

soarraBLeror PEUGEOT

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

3812 F7



\ TSNOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: CR-428 aoaptaseror CHRYSLER
SUSPENSION CONTROL ARM for JX,JXI models and
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEBRING Fl/IX 1995-2000 Front Right Upper j;g;lggiﬁg
TEKNOROT REF: CR-428 aoaprasLeror DODGE
SUSPENSION CONTROL ARM for JX,JXI models and
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328 =
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. 4764408AC
STRATUS 1stGen 1995-2000 Front Right Upper 479097444

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/3
W ENOROT

TEKNOROT REF. CR-428

SUSPENSION CONTROL ARM for JX, JXI models and
AND BALL JOINT ASSEMBLY convertible sedan

sosraLeror CHRYSLER

Weight: 1,328
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEBRING ST22/JR 2001-2006  Front Right Upper j;g;lggiﬁg
TEKNOROT REF: CR-428 aoaprasLeror DODGE
SUSPENSION CONTROL ARM for JX,JXImodelsand ="
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328 frrE iR
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. 4764408AC
STRATUS 2nd Gen 2001-2006 Front Right Upper 4789974/

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: CR-429 aoaptaseror CHRYSLER
SUSPENSION CONTROL ARM for JX,JXI models and
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEBRING Fl/IX 1995-2000  Front Left Upper j;g;lgggﬁg
TEKNOROT REF: CR-429 aoaprasLeror DODGE
SUSPENSION CONTROL ARM for JX,JXI models and
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328 =
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4764409AC
STRATUS 1stGen 1995-2000  Front Left Upper 478097504

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/3
W ENOROT

TEKNOROT REF. CR-429

sosraLeror CHRYSLER

SUSPENSION CONTROL ARM for JX,JXI models and
AND BALL JOINT ASSEMBLY convertible sedan
Weight: 1,328
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEBRING ST22/JR 2001-2006  Front Left Upper j;g;lgggﬁg

TEKNOROT REF: CR-429 aoaprasLeror DODGE
SUSPENSION CONTROL ARM for JX,JXImodels and ="
AND BALL JOINT ASSEMBLY convertible sedan

Weight: 1,328 frrE iR
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4764409AC
STRATUS 2nd Gen 2001-2006  Front Left Upper 478097504

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: DC-330 aoaptasLeror RENAULT
STEERING TIE ROD SOUTH AMERICA '

Weight: 0,695

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DUSTER 2010- Front

TEKNOROT REF.: DO-156 aoaprasLeFor DODGE

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 14
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DURANGO 2nd Gen 2004-2009 Front Upper 52106577AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TNOROT
\‘ STEERING & SUSPENSION PARTS
TEKNOROT REF: DO-156

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 14
MODEL NO BODY CODE
RAM 1500 3rd Gen

TEKNOROT REF. FO-1003
STEERING TIE ROD

Weight: 0,613

MODEL NO
CROWN VICTORIA

BODY CODE

aonpraBLeFor JODGE

YEAR ONLY
2002-2005

YEAR DIRECTIONS

OEM NO
2002-2009 Front Upper 52106577AA
aoapTaBLEFOR FORD
YEAR DIRECTIONS OEM NO
2003-2011 Front 8W773280A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF. FO-1003 aoaprasieror LINCOLN
STEERING TIE ROD

l_.

Weight: 0,613
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TOWN CAR 2003-2011 Front 8W773280A
TEKNOROT REF: FO-1041 aoapTaBLEFOR FORD
STEERING TIE ROD END

1".

Weight: 0,613
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ESCAPE 1st Gen 2001-2007 Front ECO132280A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF. FO-1041 aoaprasLeror FORD
STEERING TIE ROD END

1".

Weight: 0,613
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MAVERICK 2001-2005 Front ECO132280A
TEKNOROT REF: FO-1041 aonpTaBLEFOR MIAZ DA
STEERING TIE ROD END

1".

Weight: 0,613
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TRIBUTE 1st Gen 2001-2006 Front ECO132280A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



’\ T=NOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: FO-1058 aoapraBLEFOR FORD
SUSPENSION CONTROL ARM 4wD
AND BALL JOINT ASSEMBLY
Weight: 324

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

F-150 10th Gen 1997-2003  Front Right Upper 513730848

TEKNOROT REF: FO-1058 aoapTaBLEFOR FORD
SUSPENSION CONTROL ARM 4wD
AND BALL JOINT ASSEMBLY
Weight: 324

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPEDITION 1stGen 1997-2003  Front Right Upper 513730848

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



’\ T=NOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: FO-1059 aoapraBLEFOR FORD
SUSPENSION CONTROL ARM 4wD
AND BALL JOINT ASSEMBLY
Weight: 324

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

F-150 10th Gen 1997-2003  Front Left Upper 513730858

TEKNOROT REF: FO-1059 aoapTaBLEFOR FORD
SUSPENSION CONTROL ARM 4wD
AND BALL JOINT ASSEMBLY
Weight: 324

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPEDITION 1stGen 1997-2003  Front Left Upper 513730858

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF. FO-1065
SUSPENSION BALL JOINT

,%,

*‘i@___‘ o
Weight: 0596 Length: 102  Bolt Metric: M16X15
MODEL NO BODY CODE
EXPLORER U251

TEKNOROT REF. FO-1116
STABILIZER BAR LINK

Weight: 0,396 Length: 280  Bolt Metric: M10X1,5

MODEL NO BODY CODE

TAURUS 5th Gen

YEAR

2006-2010

YEAR

2008-2009

DIRECTIONS

Front Lower

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

aoapraBLEFOR FORD

OEM NO

/L273050A
/L5Z5050A

aoapTaBLEFOR FORD

OEM NO

/F9Z5K484R



44 {5 T&NoRrOT

STEERING & SUSPENSION PARTS

TEKNOROT REF: FO-1117 aoapraBLEFOR FORD
STABILIZER BAR LINK

Weight: 0,396 Length: 280  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAURUS 5th Gen 2008-2009 Front 7F975K483L
TEKNOROT REF: FO-719 aoapTaBLEFOR FORD
LATERAL ARM

Weight: 0,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MUSTANG 6th Gen 2016- Rear Lower FR375A972A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
CONTROL ARM
, SB 1105 BUSHING Rear Lower Inner Part of FR375A972A
CONTROL ARM
\3 SB 1106 BUSHING Rear Lower Outer Part of FR375A972A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT T

STEERING & SUSPENSION PARTS

TEKNOROT REF. FO-724 apaerasLeror FORD

SUSPENSION CONTROL ARM without performance pkg
AND BALL JOINT ASSEMBLY

B———

Weight: 2856 ¥ d 2
MODEL NO BODY CODE YEAR  DIRECTIONS OEMNO
: Front Right
MUSTANG 6th Gen 2016 e FR3Z30788
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO
i CONTROL ARM Part of FR3Z30788
1 o5 1053 BUSHING | TontLower Part of FR3Z30798
i CONTROL ARM Part of FR3Z30788
1 o5 1053 BUSHING | TontLower Part of FR3Z30798
TEKNOROT REF: FO-725 aoapTaBLEFOR FORD

SUSPENSION CONTROL ARM without performance pkg
AND BALL JOINT ASSEMBLY

Qb————‘

Weight: 2856 5 R d =
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
MUSTANG 6th Gen 2016- Front Left Lower FR3730798

COMPONENTS NUMBER NAME DIRECTIONS OEMNO
PN CONTROL ARM Part of FR3730798
1 551053 BUSHNG | Tonttower Part of FR3Z3079B
- CONTROL ARM Part of FR3730798
' 561053 BUSHING Front Lower Part of FR3730798

J

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT

STEERING & SUSPENSION PARTS

TEKNOROT REF. FO-738 apaerasLeror FORD

SUSPENSION CONTROL ARM without performance pkg
AND BALL JOINT ASSEMBLY

;

Weight: 2246 o e ; d =
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Right
MUSTANG 6th Gen 2016 Upper FR373078A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1051
SB 1051
TEKNOROT REF: FO-739 aoapTaBLEFOR FORD

SUSPENSION CONTROL ARM without performance pkg
AND BALL JOINT ASSEMBLY

P S

Weight: 2246 i i d =5t
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MUSTANG 6th Gen 2016- Front Left Upper FR373075A

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1051
SB 1051

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. H-480

SUSPENSION CONTROL ARM

Weight: 3948

MODEL NO BODY CODE
civic Vil
TEKNOROT REF: H-481
SUSPENSION CONTROL ARM
Weight: 3948
MODEL NO BODY CODE
civic Vil

aonprasLeFor HONDA

SPORT TYPE

YEAR DIRECTIONS OEMNO
o001-2005 ~ TOMLRON 51350557700
Lower
aonprasLeFor HONDA
SPORT TYPE

YEAR DIRECTIONS OEM NO

2001-2005  Front Left Lower 51360557200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-482

SUSPENSION CONTROL ARM

Weight: 381

MODEL NO BODY CODE
civic Vil
TEKNOROT REF: H-483
SUSPENSION CONTROL ARM
Weight: 381
MODEL NO BODY CODE
civic Vil

aonprasLeFor HONDA
ONLY 1.7 CTDI
YEAR DIRECTIONS OEM NO
) Front Right 5135056FEOO
2001-2005 Lower 5135056FE01
aonprasLeFor HONDA
ONLY 1.7 CTDI
YEAR DIRECTIONS OEM NO
5136056FEOO
2001-2005  Front Left Lower 51360S6EE01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TEK(NOROT

R hs & Sonhuion #ares -

TEKNOROT REF. H-645 aoaptasLeFor ACURA
SUSPENSION BALL JOINT - S

Weight: 045 = -
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
part of 5135053VA10
MDX YD1 2001-2006 Front Lower part of 5136053VALD
TEKNOROT REF: H-645 aoapasLeror HONDA
SUSPENSION BALL JOINT

Weight: 0,45
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. part of 5135053VA10
PILOT 1st Gen 2003-2008 Front Lower part of 51360S3VALD

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



yy ’\ TXNOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF. HY-623
STEERING TIE ROD

q_.n

Weight: 0,71
MODEL NO BODY CODE YEAR
ELANTRA AD 2016-

TEKNOROT REF: HY-846
STABILIZER BAR LINK

Weight: 0,44 Length: 321  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR
SONATA 6th Gen, YF 2009-2014

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

sonerasLeror HYUNDAI

DIRECTIONS

Front

OEM NO
56540F2000

sonerasLeror HYUNDAI

DIRECTIONS

Front Right

OEM NO

548405RO00AS



\ T=NOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: HY-846 ApapTABLE FOR [IA
STABILIZER BAR LINK YEAR ONLY
2012-2015
: ﬂ‘r ———— <
‘——Q_ T =
1 M
Weight: 0,44 Length: 321  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OPTIMA 3rd Gen, TF 2010-2015 Front Right 548403R0O00AS
TEKNOROT REF: HY-847 aonpraBLeFor HYUNDAI
STABILIZER BAR LINK
Weight: 0,44 Length: 321  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SONATA 6th Gen, YF 2009-2014 Front Left 548303R000DS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
W ENOROT

TEKNOROT REF.: HY-847
STABILIZER BAR LINK

ol

Weight: 0,44 Length: 321  Bolt Metric: M12X1,25

MODEL NO BODY CODE

OPTIMA 3rd Gen, TF
TEKNOROT REF: I-146
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3652
MODEL NO BODY CODE
D-MAX 4X4

AoaPTaBLEFOR KIA

YEAR ONLY
2012-2015
YEAR DIRECTIONS OEM NO
2010-2015 Front Left 548303R000DS
aospraBLeFoR [SUZU
YEAR DIRECTIONS OEM NO
2002-2006  Front Right Upper 8980058380

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

(\ TNOROT .

TEKNOROT REF. I-146 aoaprasLeFor SUZU

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3652
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Right Upper 8980058380
TEKNOROT REF: I-1468 aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 3166
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2002-2006  Front Right Upper 8980058380

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



p7
{5 T&KNOROT

TEKNOROT REF: I-1468 aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 3166
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Right Upper 8980058380
TEKNOROT REF: 1-147 aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3652
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2002-2006  Front Left Upper 8980058390

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

(\ TNOROT .

TEKNOROT REF: I-147 aoaprasLeFor SUZU

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3652
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Left Upper 8980058390
TEKNOROT REF: 1-147S aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 3166
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2002-2006  Front Left Upper 8980058390

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

pr
\R TSNOROT a

TEKNOROT REF: 1-147S aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 3166
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Left Upper 8980058390
TEKNOROT REF: I-148 aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 10,96
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: : Front Right
D-MAX 4x4 2002-2006 | ower 8960058340
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Aﬁ I-114

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT N

STEERING & SUSPENSION PARTS

TEKNOROT REF. I-148 aoaprasLeFor SUZU

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 10,96
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: . Front Right
D-MAX 4X4 2007-2012 | ower 89680058340
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Aﬁ I-114
TEKNOROT REF: I-148S aospraBLeFoR [SUZU

SUSPENSION CONTROL ARM

Weight: 9698
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
_ : Front Right
D-MAX 4x4 2002-2006 | ower 6960058340

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT N

STEERING & SUSPENSION PARTS

TEKNOROT REF: I-148S aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 9,698
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
D-MAX 4X4 2007-2012 | ower 89680058340
TEKNOROT REF: 1-149 aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 10,96
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2002-2006  Front Left Lower 8980058350
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Aﬁ I-114

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT N

STEERING & SUSPENSION PARTS

TEKNOROT REF. I-149 aoaprasLeFor SUZU

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 10,96
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Left Lower 8980058350
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Aﬁ I-114

TEKNOROT REF: I-149S aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 9,698
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2002-2006  Front Left Lower 8980058350

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT

STEERING & SUSPENSION PARTS

TEKNOROT REF: I-149S aospraBLeFoR [SUZU
SUSPENSION CONTROL ARM

Weight: 9698
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 4X4 2007-2012  Front Left Lower 8980058350
TEKNOROT REF: KI-518 AoapTABLEFOR [KIA
SUSPENSION CONTROL ARM

Weight: 416
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CARENS I UN 2006-2013 Fftzgfwﬁgght 5450110000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF: KI-518 ApapTABLE FOR [IA
SUSPENSION CONTROL ARM

Weight: 416
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RONDO ondGen UN  2006-2013 ~ TO7ERONE 5450110000
Lower
TEKNOROT REF: KI-519 AoapTABLEFOR [KIA
SUSPENSION CONTROL ARM
Weight: 416
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CARENS IUN 2006-2013  Front Left Lower

5450010300

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



pr
\R TSNOROT a

STEERING & SUSPENSION PARTS

TEKNOROT REF: KI-519 ApapTABLE FOR [IA
SUSPENSION CONTROL ARM

Weight: 416
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RONDO 2nd Gen, UN 2006-2013  Front Left Lower 5450010300
TEKNOROT REF: KI-564 AoaPTaBLEFOR KIA
SUSPENSION BALL JOINT ' '

Weight: 0,314  Length: 75,7 == i :
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PICANTO JA 2017- Front Lower 5450066000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 {5 T™=XNOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF: M-253
STEERING TIE ROD

aosrraeieror MERCEDES

with power steering

Weight: 0,587
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
C SERIES W204 2007-2013 Front 2073300500
TEKNOROT REF: M-253 sosrrasLeror MERCEDES
STEERING TIE ROD with power steering
Weight: 0,587
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
E SERIES w212 2007-2013 Front 2073300500

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-383
STEERING TIE ROD

H

Weight: 0,605
MODEL NO BODY CODE YEAR
SLK R172 2011-
TEKNOROT REF: M-784
CONTROL ARM BUSHING
Weight: 0.3
MODEL NO BODY CODE YEAR
C SERIES W205 AWD 2013-

DIRECTIONS

Front

4MATIC

sosrraLeror MIERCEDES

2043360615

sosrraLeror MIERCEDES

DIRECTIONS

Front Lower
Rearward Center

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

PART OF 2053305601



7
p SNOROT - .

TEKNOROT REF: M-788 soaerssieror MERCEDES
SUSPENSION CONTROL ARM 4MATIC
AND BALL JOINT ASSEMBLY

A <

.o oH

Weight: 167
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower
C SERIES w205 AWD 2013- Pearward 20533058601

TEKNOROT REF: N-538 aosrrasLeror NISSAN

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY
Weight: 4378
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Right 545002Y412
MAXIMA A32 MAXIMAQX — 1994-2000 Lower 545002Y411

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

SEMaE -

TEKNOROT REF. N-639 aoaprasLeFor NISSAN

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 4378
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
545012Y412
MAXIMA A32 MAXIMA QX ~ 1994-2000  Front Left Lower 545019Y411
TEKNOROT REF: N-688 aonprasLeFor NISSAN
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY
P~ .‘lf? =
* N 3
o ®
Weight: 413
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4th Gen L32A, . Front Right
ALTIMA N32 2007-2012 | ower 54501JA00B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
W ENOROT

TEKNOROT REF. N-689

soarraBLeror NISSAN

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY
=%
- 4 n.: *} '{p e
% Ny
Weight: 413
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ALTIMA 4th GSQ;BQA 2007-2012  Front Left Lower 54500JA008

TEKNOROT REF. SB 1105 apaptaBLeFor FORD

CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS

MUSTANG 6th Gen 2016- Rear Lower Inner Part of FR3Z5A8972A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
W ENOROT -

TEKNOROT REF: §B 1106 aoapraBLEFOR FORD
CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MUSTANG 6th Gen 2016- Rear Lower Outer Part of FR3Z5A372A
TEKNOROT REF: SB 1053 aoapTaBLEFor FORD
CONTROL ARM BUSHING without performance pkg

Jz*"cf
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Part of FR323078B
MUSTANG 6th Gen 2016- Front Lower Part of FR3730798

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT T

STEERING & SUSPENSION PARTS

TEKNOROT REF: §B 612 aonprasLeFor SUZUKI
CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower Part of 4520161IM00
5-CROSS Y 2013 Inner Part of 452026IM00
TEKNOROT REF: SB 613 aoaprasLeror SUZUKI
CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower Part of 4520161M00
S5-CROSS ¥ 2013- Outer Part of 452026 1M00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 {5 T&NoRrOT T

STEERING & SUSPENSION PARTS

TEKNOROT REF.: §Z2-518 aoaprasLe For SUZUKI

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 313
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. : Front Right
S-CROSS 1Y 2013 | ower 452016IM0O0
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o
* S57-615
95612 CONTROL ARM Front Lower Part of 45620161M00
BUSHING Inner Part of 45620261M00
9B6I3 CONTROL ARM Front Lower Part of 45620161M0O0
BUSHING Outer Part of 45620261M00
TEKNOROT REF: §Z-5619 aonprasLeFor SUZUKI
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY
Weight: 313
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
S5-CROSS Jy 2013- Front Left Lower 4520261IM00
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o
S57-615
95612 CONTROL ARM Front Lower Part of 45620161M0O0
BUSHING Inner Part of 45620261M00
96613 CONTROL ARM Front Lower Part of 45620161M0O0
BUSHING Outer Part of 45620261M00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. T-673
STEERING TIE ROD

.%ﬁ =

Weight: 0,594
MODEL NO BODY CODE
COROLLA E120

TEKNOROT REF: T-764
SUSPENSION BALL JOINT

Weight: 231 Bolt Metric: M16X1,5
MODEL NO BODY CODE
TUNDRA 1stGen

aonprasleror TOYOTA

U.S.A. Market
YEAR DIRECTIONS OEMNO
2003-2008 Front 4550309400
aonprasleror TOYOTA
YEAR ONLY
2004-2007
YEAR DIRECTIONS OEMNO
2000-2007 ~ TOMLRIGN 4333039825
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ T=NOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF. T-7656
SUSPENSION BALL JOINT

Weight: 231 Bolt Metric: M16X1,5
MODEL NO

TUNDRA

TEKNOROT REF: T-764
SUSPENSION BALL JOINT

Weight: 231 Bolt Metric: M16X1,5
MODEL NO

SEQUOIA

BODY CODE

1stGen

BODY CODE

1stGen

aonprasleror TOYOTA

YEAR ONLY
2004-2007
YEAR DIRECTIONS OEM NO
2000-2007  Front Left Lower 4334039595
aonprasleror TOYOTA
YEARONLY |
2004-2007
YEAR DIRECTIONS OEM NO
2000-2007 ~ TOMLRIGN 4333039825
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘\ TSNOROT .

STEERING & SUSPENSION PARTS

TEKNOROT REF: T-765 aonprasleror TOYOTA
SUSPENSION BALL JOINT YEARONLY F
2004-2007
Weight: 231 Bolt Metric: M18X15 ]
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEQUOIA 1stGen 2000-2007  Front Left Lower 4334039595
TEKNOROT REF: T-834 aonprasleror TOYOTA
SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY
Weight: 3495 AR . et el
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TUNDRA 2nd Gen 2007- i ’ZZ wﬁh ! 4861000011
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

t T-145

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT N

STEERING & SUSPENSION PARTS

TEKNOROT REF. T-834 aoarrasLeror TOYOTA

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3495 ; - el
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
TUNDRA 2nd Gen 2007 | ower 486100C011
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

t T-145

TEKNOROT REF. T-835 aoaprasLeror TOYOTA

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3495
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEQUOIA 2nd Gen 2008- Front Left Lower 4863000011
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

t T-145

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\ TSNOROT N

STEERING & SUSPENSION PARTS

TEKNOROT REF. T-835 aoarrasLeror TOYOTA

SUSPENSION CONTROL ARM
AND BALL JOINT ASSEMBLY

Weight: 3495
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEQUOIA 2nd Gen 2008- Front Left Lower 4863000011
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

t T-145

TEKNOROT REF: T-848 aoapraeror TOYOTA
SUSPENSION CONTROL ARM VEAR ONLY
2000-2003
Weight: 8064
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TUNDRA 1stGen oo00-2007  TOTLRON 4806834020

Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



’\ T=NOROT

STEERING & SUSPENSION PARTS

TEKNOROT REF. T-848
SUSPENSION CONTROL ARM

Weight: 8064
MODEL NO BODY CODE
TUNDRA 1st Gen

TEKNOROT REF. T-849
SUSPENSION CONTROL ARM

Weight: 8064
MODEL NO BODY CODE
SEQUOIA 1st Gen

aonprasleror TOYOTA

YEAR ONLY
2000-2003
YEAR DIRECTIONS OEMNO
2000-2007 ~ TOMLRIGN 4806834020
Lower
aonprasleror TOYOTA
YEAR ONLY
2000-2003
YEAR DIRECTIONS OEMNO
2000-2007  Front Left Lower 4806934020

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S T
W ENOROT

TEKNOROT REF: T-849

SUSPENSION CONTROL ARM vEARONLY
2000-2003
Weight: 8064
MODEL NO BODY CODE YEAR DIRECTIONS
SEQUOIA 1stGen 2000-2007  Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

aonprasleror TOYOTA

4806934020



